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Guess Paper – 2007
Class – X
Mathematics

                                          C.S.MODEL PAPER – 2007
General Instructions:

 a)
All questions are Compulsory.


b)
This question paper consist of 25 questions divided into three sections : Section A (Q. 1 to 7 of 2 marks each), Section B (Q.8 to 19 of 3 marks each) and Section C (Q. 20 to 25 of 5 marks each).


c)
As far as possible answer questions in serial order. When you are not sure of answering the question, you may leave it for the time being and proceed without wasting your time.


d)
When you wish to re-answer any question, please cancel the first one.


e)
Use of a Calculator is not permitted.


f)
Keep some time for revision.

SECTION A
1. Solve:  
               5 _   __    2__ = - 1;     15__   + _7__ = 10 
             x+y           x-y                 x+y       x-y 
2. If  P = x+1   , Q = x -1 , find P + Q        
                x -1
         x +1
3. Find the values of  a  and  b so that  the  polynomials  P (x) and Q (x)  have  ( x-1) ( x+4)      
    as their HcF : 

    P(x) = ( x2 – 3x + 2)  ( x 2 +7 x + a) 

    Q(x) = ( x2 + 5x+ 4)  ( x2 – 5x + b)   
4. If  the roots  of the equation ( b-c ) x2 + ( c-a ) x + ( a-b) = o  

    are  equal , then prove that 2b = a +c  
5. The 10 th  term of an A.P. is 52 and 16 th term is 82 . Find the 32 nd  term and the general  
    term .

6. A cycle is available for  Rs 3000 cash price or  Rs 800 cash down  payment  followed by 

    5 equal  monthly instalments of  Rs 450 lac , Find the rate of interest. 

7. Prove, any line parallel to the  parallel sides of  a trapezium divides  the non- parallel sides           

    Proportionally. 

                                      SECTION : B 
 8. Draw the graphs of 2x +y = 6 and  2x – y + 2 = 0 .Shade the region  bounded by  these 
     lines and  x – axis . Find the area of the  shaded  region . 

 9. How many spherical bullets  can be  made out of a  solid cube  of lead  whose  edge          

     measures 44 cm, each bullet  being 4 cm in diameter .

10. If  sin 
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 + cos 
[image: image2.wmf]q

= 
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) , determine  cot 
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.
                                        Or 

      Evalute : Cot 12 0 Cot  38 0  Cot 52 0 Cot  60 0 Cot 78 0
11. 

In the given figure AB=AC.  A circle through B touches the side AC at D intersects side AB at P. If AD = DC, prove that AB = 4AP.
[image: image1.wmf]q


12.   Derive  the  formula  for the  distance  between  two  point P( x 1,  y 1, )  and Q ( X2 , Y2) 
                                          Or 

       If  point P divides  a  line  segment  AB  in the  ratio m1 ,  m  2, and  the  Co –ordinates  of 

       A & B  are ( X 1,  Y 1) & ( X2, Y2 )  respectively , Find the  co-ordinates  of  P.
13.  If the points  A (-2, 3 ), B ( p, 2 )  and  C ( 7, 0 )  are  collinear .Find  p.
                                          Or 

       Find the  point , whose ordinate  is  equal to the abscissa which  is  equidistant     

       from( 0,4) and ( 2,0) 

 14. A coin  and a dice are thrown .What is the probability of  getting (i) a head  (ii)  an even  

       number  (iii) a  head  and an even number  (iv)  a  tail or an  odd number.
 15. A right – angled triangle , whose remaining  angles  are  60 0  and 30 0  revolves about  

       the hypotenuse , which  is  84 cm long . Find the  volume of the  double  cone  thus    

       formed . 

  16. Prove : Cosec A            _    Cosec A__      =  2 Sec 2 A 
                    Cosec A-1               Cosec A+ 1 
                                               Or
        Evaluate :    Cot 54 0    +  tan  20 0      __   2 

                            tan 36 0 
Cot 70 0 
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   17. Construct a  ⁮ ABCD in which  AB =    BC = 5 CM, AD = 4.5 CM,  CD = 6CM, 

        
[image: image8.wmf]Ð

B = 800 .  Construct a ⁮ A, BC, D, similar  to ⁮ ABCD , whose  each side  is 
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   th  
        of  corresponding side  of  ⁮ ABCD .

   18.Find the average marks of students from  the  following  table : 

	Marks
	Above 0
	Above 10
	Above
20
	Above
30
	Above
40
	Above
50
	Above
60
	Above
70
	Above
80
	Above
90

	No. of

students
	80
	77
	72
	65
	55
	43
	28
	16
	10
	8


    19.A  sum of  Rs 50,400 is  borrowed to be  paid back in 3 years  in 3 equal  instalments .

         What is the  annual  instalment  if the  rate  of  interest  is  5 %  per annum  compound  

          yearly ?  
                                               SECTION  - C

     20. The annual income  statement  of  Dr, Shukla , a civil judge is  given  below : 

           (i)      Basic pay = Rs 2,10,000      (ii) Dearness Allowance = 95,000

          (iii)      House rent allowance =  Rs 39000   (iv) Interim  relief   = Rs 2000

(v) City compensatory allowance  = Rs 5500

(vi) Deductions : (a) Contribution  to P.F. = Rs 2200 per month 

              (b) L.I.C .Premium  = Rs 6000 quarterly  (c) Investment in PPF= Rs 2000     

               Per month 
         He donates Rs . 40,000 to  a  charitable trust  and  get 50 %  relief .

   1.Income Tax Slab  :

                                                                                                 NIL 
(i) Upto Rs 100000                                     10 % of amount   exceeding  Rs 100000
(ii) Rs 100001 – 1,50,000                            Rs 5000 + 20 % of the amount  exceeding 
(iii) Rs 1,50,001- 250,000                             Rs 1,50, 000
 (iv)       Amount  Exceeding  Rs 2,50000           Rs 25000 + 30% of the amount  exceeding  

                                                                             Rs 250000.
   2. Surcharge :-  10 % of the amount of tax  payable if the taxable  income exceeds  

                               Rs 1000000.
   3.Educational          : 2 % of the amount of tax payable 
21. State and prove   alternate segment theorem.
           Using this theorem , prove  
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PAQ + 
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 PBQ = 180 0 , if  PQ is the common  tangent     

      of two circles which interest  at  A and  B .   
22. Prove in any circle the angle subtended at the centre is double  of the angle  subtended  in 

      the remaining segment  by same arc.

                           In the figure if  O is the centre  of circle , prove  
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 y + 
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 z   
[image: image20.png]cbseﬁguess




23. The angle of elevation of a cliff  from a fixed point is 
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. After going up a distance  of  k   

       meters towards the top of the  hill  at an angle of  
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 it is found that the  angle of     

      elevation is  
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 . Show that the height of the cliff is  K 
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.
24. A bucket is 32 cm in diameter at the top and 20 cm in diameter  at the  bottom .Find the 

      capacity  of bucket  in liters if it is 21 cm deep. Also find the cost  of the  tin sheet used in 

      making the bucket  at the rate of Rs , 1.50 per sq .dm.

25.  The  following  data  shows  the number of  students  opting  different  subjects in a    

       college :   Draw Pic chart 

	Subject :
	English
	Maths 
	Physics
	Chemistry
	Eco
	Commerce

	No of  students :
	45
	60
	20
	30
	10
	15


“Do not look back upon what has been done. Go ahead!”
“Each job demands its quota of efforts, don’t give up too soon. Strive on until you reach the goal.”
CHANDAN SINGH GHUGHTYAL

CHINMAYA INTERNATIONAL RESIDENTIAL SCHOOL

COIMBATORE

TAMILNADU 

09443061459   E-MAIL      chandanganga@gmail.com
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